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SECT50 | 50 0.8 0.90 45 0.2 0.20 1.0 0.0 0.00 0.0
SECT 100| 5.0 0.8 0.80 40 0.6 0.40 2.0 0.0 0.00 0.0
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BTERE | Ty | M | MEiE | T | X | BEE | FY | I
SECT 0.0 0.2 1.7 1.1
SECT50 | 50 0.1 0.15 038 1.7 1.70 85 1.1 1.10 55
SECT 100 | 5.0 0.1 0.10 0.5 1.7 1.70 85 1.1 1.10 55
SECT 140 | 40 0.1 0.10 0.4 1.6 1.65 6.6 1.1 1.10 4.4
SECT 180 | 40 0.1 0.10 0.4 1.6 1.60 6.4 1.1 1.10 4.4
it 18.0 2.1 30.0 19.8
N ka1 —k EEEIE AT
ma | L Lb (% 3) L2 (362)
RS 1y [k RS T miE RS 15 mR
SECT 0.0 1.1 0.6
SECT50 | 50 1.3 1.20 6.0 0.8 0.70 35 0.0
SECT 100 | 5.0 1.5 1.40 7.0 1.3 1.05 5.3 0.3 0.15 0.8
SECT 140 | 40 15 1.50 6.0 1.8 1.55 6.2 0.8 0.55 2.2
SECT 180 | 40 15 1.50 6.0 3.3 2.55 10.2 2.3 1.55 6.2
Hi 18.0 25.0 25.2 9.2
. avo)—kJovoi %A% (RC-40) EEEE
ma | sL Gv K
RS Ty miE | BEE | TS I RS 15 mE
SECT 0.3 1.3 0.2
SECT 50 | 4.7 1.4 1.35 6.3 0.3 0.25 1.2
SECT 100| 5.0 1.3 1.35 6.8 0.2 0.25 1.3
SECT 140 | 40 1.2 1.25 5.0 0.2 0.20 0.8
SECT 17.7| 3.7 038 1.00 3.7 0.1 0.15 0.6
it 17.4 21.8 3.9




15/hALT

25/hALET

MhalET

avo)—k Vv

— i

BRI T

(RERKY)

(HuHENEELY)

>
11

B9 —hk(t=Tcm)
(BEHEELY)
V= 25.0 % 0.07

A=

fEEa> 21—k (t=10cm)

L=
A=

L=

T
BT (FRE71H)

(REIRIKY)

0.31 +0.20
2.58 + 1.68

(BRI EstEELY)
ZRBGIKBAEEE X (KF250)

(REIRIKY)

A= 13x05+1.3% (1.1-0.5) =2
+1.7%0.5+1.7%x(1.3-0.5)=2

AT (3R3E)

A= (3.7+3.3) X 1.1=+2
+(0.6+0.5) X 1.3+2

17.4
2.0

1.0

1.0

2.0

0.51
4.26

25.0
1.75

18.0
6.7

18.0

2.6

4.6

m2
m3

m2

m2

m2



JOvoiEL

HET HUHESTEE 100 m¥HyY
avsy—k 100 /
18N/mm2 :
/
T N
S.- o™
()
S 000 XXX\]
E R
RC-40
100 520 100
720
ER 174 m
ME/IRE HER B HEuH=E A=
avsY)—k {1/2 % (0.100+0.520) X (0.300-0.100)+0.520 x 0.100}
0 ck=18N/mm2 % 10.0 m3 1.140 1.98
iy e
(0.300+0.100) x 10.0 m2 4.000 6.96
M
m2 7.200 12.53

RC-40. t=10cm 0.720x 10.0




BRI T

lggEaro—k HARETFEE 10 EHRrHY
(30
9‘/ // //
374 ~ /o
/ /!
/ /o
/ // //
| apm o
‘\k J’x i
G 360 ) /o
/ /!
/ /]
/ /!
~—L_ // //
\ ~_
| !
74 iiiiii 1
| |
ZEE 180 m
M/ R HER B BEAHE 2@4H%=E
avo)—k 0.374x18.0
0 ck=18N/mm2 m2 6.732 6.73




BRI T

msEa>o)—k HUHESTEE 100 m=Y

500

avy)—+k
/// 18N/mm2
ER m
MEL/ R HER B HEuH=E A=
avo)—k (0.500+1.000) x 0.070 X 10.0
0 ck=18N/mm2 m3 1.050




JOvoiEL

15/hOET HUHESTEE 1.0 BEfrZY
300 783
2
gl o
o P
=
520
£ 1.0 &
ME/IRIE HER B HEuH=E A=
avo)—k {(0.783+0.850) X 0.671+2+(0.470+0.470) X 0.579 2+
0 ck=18N/mm2 (0.570+0.520) % 0.200~2+(0.200 X 0.520)} x 0.300= m3 0.310 0.31
piup = {(0.783+0.850) X 0.671=2+(0.470+0.470) X 0.579 =2+
— AR B (0.570+0.520) x 0.200—=2+(0.200 X 0.520)} X 2+ m2 2.578 2.58

(1.305+0.400) % 0.300=




JOvoiEL

285 /hO1ET HUHESTEE 1.0 BEfrZY
300 783
805
470
M el e
<
£ 1.0 &
ME/IRIE HER B HEuH=E A=
avo)—k {(0.783+0.805) % 0.216+2+(0.470+0.470) X 0.579 2+
0 ck=18N/mm2 (0.570+0.520) % 0.200~2+(0.200 X 0.520)} x 0.300= m3 0.197 0.20
piup = {(0.783+0.805) X 0.216 —2+(0.470+0.470) X 0.579 =2+
— AR B (0.570+0.520) x 0.200—=2+(0.200 X 0.520)} X 2+ m2 1.682 1.68

(0.830+0.400) % 0.300=




